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9.2 Angles Inside and Outside Circles
Objective: Students will learn the relationship between angles and arcs in a circle 

Intersecting Chords Angle Theorem
The measure of the angle formed by two ________________ that intersect inside a circle is the 

_______________of the measures of the intercepted arcs.

Angle = Intercepted Arc1 + InterceptedArc 2

Intersecting Chords Angle Theorem
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Angle = 
Big Arc ­ Small Arc 
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Secant Secant Theorem:
The measure of an angle at a point outside the circle is ____________ the difference of the 

measures of the intercepted arcs.
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Angle = 
Intercepted Arc
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Tangent Chord Theorem
The measure of an angle at a point outside the circle is ____________ the difference of the 

measures of the intercepted arcs.
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If ∠MLK is 140°, find the measure of ML
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If ∠GHI is 80°, find the measure of HI

Tangent Chord Theorem



4

Independent Practice

FORMULA: FORMULA:

Intersecting Chords

Find the value of ∠VTX

T

Find the value of ∠R

Find the value of AB

34°

Find the value of GJ

) )

FORMULA:

Secant Secant Theorem Chord Tangent
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In the accompanying diagram, LQ and PR are chords and intersect at E. If mLP = 50° 
and mRQ = 56°, find m∠LER.
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RT is a secant line and RQ is a tangent line. If mQS = 62° and m∠R = 42°, what is the mST?
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Both KL and KJ are secant lines. If LRJ = 270°, what is the m∠K)

In the circle below ML = 210°. What is the m∠MLJ
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 If mBD = 58°, find m∠CBD.
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In the circle below ML = 100°, MJ = 72°, and JR = 140°. What is the m∠K
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